o/ d N

(9]

d

Ratio to ATLAS

d H*"} [pb/GeV]

1071

1072

1074

[EEY

0.5

13000 GeV pp
L B B I

il I B L L A L L e e e P2
B . _ é
— ttHT (ATLAS semileptonic ttbar) — ;
[ m ATLAS N
_ —— Pythia 8.308 default s
- 4o
_ —m
B 1o
— u .=
i |z
= u =
-~ u -
- o
- — ™M
@
B 1™
O
— 10
™
o
| _1=
— X
- 1.8,
— -
- ~G
| | e
i 18
2
9o
. —5
| P IR I R | P IR I R | P IR I R | P IR I R = =
e B L I L BN BN A
— —2
B 11
| —0.5
I T T T I R T T I R T T I R T T l
0 500 1000 1500 2000

Hr "} [GeV], N** = 6



	Contents
	Page 1


